Activity: Analyze an Object

THDFKLQJ 7TKURXJK &ROOHFWLRQV 3URMHFW
1DWLRQDO 3DUN 6HUYLFH &RRSHUDWLYH $JUHHPHQW 3 $& DI HG>






$FWLYLW\ $QDO\]H DQ 2EMHFW

THDFKLQJ 7TKURXJK &ROOHFWLRQV 3URMHFW
1DWLRQDO 3DUN 6HUYLFH &RRSHUDWLYH $JUHHPHQW 3 $& DI HG>



$FWLYLW\ $QDO\]H DQ 2EMHFW

Object One

&RXUWHV\ RI " HQDOL 1DWLRQDO 3DUN DQG 3UHVHUYH OXVH.:

THDFKLQJ 7TKURXJK &ROOHFWLRQV 3URMHFW
1DWLRQDO 3DUN 6HUYLFH &RRSHUDWLYH $JUHHPHQW 3 $& DI HG>






$FWLYLW\ $QDO\]H DQ 2EMHFW

Object Three

&RXUWHV\ RI '"HQDOL 1DWLRQDO 3DUN DQG 3UHVHUYH OXVHXP

THDFKLQJ 7TKURXJK &ROOHFWLRQV 3URMHFW
1DWLRQDO 3DUN 6HUYLFH &RRSHUDWLYH $JUHHPHQW 3 $& DI HG>



$FWLYLW\ $QDO\]H DQ 2EMHFW

Object Four

&RXUWHV\ RI '"HQDOL 1DWLRQDO 3DUN DQG 3UHVHUYH OXVH

THDFKLQJ 7TKURXJK &ROOHFWLRQV 3URMHFW
1DWLRQDO 3DUN 6HUYLFH &RRSHUDWLYH $JUHHPHQW 3 $& DI HG>



$FWLYLW\ $QDO\]H DQ 2EMHFW

Object Five

THDFKLQJ 7TKURXJK &ROOHFWLRQV 3URMHFW
1DWLRQDO 3DUN 6HUYLFH &RRSHUDWLYH $JUHHPHQW 3 $& DI HG>









Object Three: Snowshoes  '(1%

7KLV LV D SDLU RI KDQGPDGH VQRZVKRHV FRQVYV
ODVKHG WRIJHWKHU ZLWK VLQHZ Q\ORQ FRUG| D
GHVLIQUHH GRZHOV DFURVV WKH PLGGOH VHFWL
ERRM) RQH VQRZVKRH RQH GRZHO LQ WKH PLGGC

THDFKLQJ 7TKURXJK &ROOHFWLRQV 3URMHFW
1DWLRQDO 3DUN 6HUYLFH &RRSHUDWLYH $JUHHPHQW 3 $& DI HG>






